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Chapter 7, Solution 4. 
 

For  t<0,  v(0-)=40 V. 
 
For t >0.  we have a source-free RC circuit. 
 3 62 10 10 10 0.02RC x x xτ −= = =  

/ 50( ) (0) 40  Vt tv t v e eτ− −= =  
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Chapter 7, Solution 13. 
 

(a) 3
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msτ = =  

 
1000 1000 320 4 10t tv iR e Rx e x− − −= → =  

From this,  R = 20/4 kΩ= 5 kΩ 
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(b)  The energy dissipated in the resistor is 
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Chapter 7, Solution 17.  
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Chapter 7, Solution 44.  
 

 
Ω== 23||6R eq , 4RC ==τ  

[ ] τ∞−+∞= t-e)(v)0(v)(v)t(v  
 
Using voltage division, 
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Chapter 7, Solution 54.  
 

 
(a) Before t = 0, i is obtained by current division or 
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After t = 0, 
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(b) Before t = 0, =
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After t = 0, 5.42||63R eq =+=  
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To find )(i ∞ , consider the circuit below, at t  =   when the inductor 
becomes a short circuit, 
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